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QUESTION PAPER SPECIFIC INSTRUCTIONS  

प्रश्न पत्र संबंधी विशेष अनुदेश  

Please read each of the following instructions carefully before attempting questions. 

उत्तर देि ेसे पूर्ा णिम्िणिणित णिदेशों को कृपयध सधर्र्धिीपूर्ाक पढ़ें ।  

1. There are EIGHT questions printed in both. English and Hindi. 
इसमें आठ प्रश्न हैं जो अंगे्रजी और णहन्दी दोिों में छपे ह ै।  

2. Candidate has to attempt FIVE questions in all either in English or Hindi.   

उम्मीदर्धर को कुि पधाँच प्रश्नों के उत्तर अंगे्रजी यध णहन्दी में दिेे हैं ।  

3. Question No. 1 is compulsory. Out of remaining seven questions, FOUR are to be 

attempted. 

प्रश्न संख्यध 1 अणिर्धया ह ै। शेष सधत प्रश्नों में से  चधर प्रश्नों के उत्तर दीणजए ।  

4. All questions carry equal marks. The number of marks carried by a question/ part are 

indicated against it. 

सभी प्रश्नों के समधि अंक हैं । प्रत्येक प्रश्न / भधग के णियत अंक उसके सधमिे णदए गए ह ै।  

5. Write answers in legible handwriting. Illustrate your answers with suitable sketches and 

diagrams, wherever considered necessary.  

सपुधठ्य णििधर्ट में उत्तर णिणिए । जहधं भी आर्श्यक समझध जधए, र्हधाँ अपिे उत्तरों को उपयुक्त रेिधणचत्रों और आरेिों के सधथ स्पष्ट 

कीणजए ।  

6. Each part of the question must be answered in sequence and in the same continuation. 
प्रश्न के भधग कध उत्तर उसी क्रम में णदयध जधिध चधणहए ।  

7. Attempts of the questions shall be counted in sequential order. Unless struck off, attempt 

of a question shall be counted even if attempted partly. Any page or portion of the page 

left blank in answer book must be clearly struck off.  
प्रश्नों के उत्तरों की गििध क्रमधिुसधर की जधएगी । आंणशक रुप से णदए गए प्रश्नों के उत्तर को भी मधन्यतध दी जधएगी यणद उसे कधटध   िहीं गयध 

हो । िधिी छोड़ें गए कोई भी पषृ्ट अथर्ध पषृ्ठ के भधग को पिातः कधट दीणजए ।  

8. Re-evaluation/ re-checking of answer book of the candidate is not allowed.    

            उम्मीदर्धर की उत्तरपुणस्तकध कध पिुमूालयधंकि / पिु: जधाँच की अिुमणत िहीं ह ै। 
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1. (a) Show that the similar matrices have the same minimal polynomial.  

णसद्ध करो णक समरूप आव्यहू के समधि णमिीमि र्हुपद होते हैं ।   

05 

 (b) Find the asymptotes of the curve.   

𝑥3 + 𝑥2𝑦 + 𝑥𝑦2 + 𝑦3 + 2𝑥2 + 3𝑥𝑦 − 4𝑦2 + 7𝑥 + 2𝑦 = 0      

र्क्र 𝑥3 + 𝑥2𝑦 + 𝑥𝑦2 + 𝑦3 + 2𝑥2 + 3𝑥𝑦 − 4𝑦2 + 7𝑥 + 2𝑦 = 0  के अिन्तस्पशी 

ज्ञधत करो ।  

 

05 

 (c) Compute the general solution of the non-linear differential equation  

𝑦 = 𝑥𝑦′ + (𝑦′)2, where 𝑦′=
𝑑𝑦

𝑑𝑥
 

 गैर रेिीय अर्कि समीकरि 𝑦 = 𝑥𝑦′ + (𝑦′)2 कध व्यधपक हि ज्ञधत करो जहधाँ 𝑦′=
𝑑𝑦

𝑑𝑥
 

 

05 

 (d) Show that the vector field defined by the vector function  

 𝑉⃗ = 𝑥𝑦𝑧(𝑦𝑧𝑖 + 𝑥𝑧𝑗 + 𝑥𝑦𝑘)    is conservative. 

णसद्ध करो णक सणदस फिि  𝑉⃗ = 𝑥𝑦𝑧(𝑦𝑧𝑖 + 𝑥𝑧𝑗 + 𝑥𝑦𝑘)  से पररभधणषत सणदस फिि कंजररे्णटर् ह ै।  

05 

2. (a) Show that the inner product space is a normed vector space but converse is not true.  

णसद्ध करो णक अंतर गड़ुि सणमष्ट एक िंणित सणदस सणमष्ट ह ैिेणकि व्यतु्क्रम सत्य िहीं ह ै।  

10 

 (b) If the plane x+𝑦 + 𝑧 = 1  cuts the cylinder 𝑥2 + 𝑦2 = 1  in an ellipse, then determine the 

point on the ellipse that lie closest to and farthest from the origin.   

यणद समति x+𝑦 + 𝑧 = 1  ,  दीघार्तृ्त  में रे्िि  𝑥2 + 𝑦2 = 1 को कधटतध ह ैति दीघार्तृ्त पर 

णरं्द ु ज्ञात करो जो णक मिू णरं्द ुसे पधस से पधस और दरू से दरू हो ।  

10 

3 (a) Find the volume of the solid enclosed between the surfaces x2 + y2 = a2    and x2 + z2 = 

a2. 

पषृ्टों  x2 + y2 = a2    तथध  x2 + z2 = a2 के िीच में आिे र्धिे ठोस कध आयति ज्ञधत कीणजए ।  

10 

 (b) Find the equation of the plane passing through the line of intersection of the planes          

𝑎1𝑥 + 𝑏1𝑦 + 𝑐1𝑧 + 𝑑1 = 0    and 𝑎2𝑥 + 𝑏2𝑦 + 𝑐2𝑧 + 𝑑2 = 0  and perpendicular to 

the  𝑥𝑦 − 𝑝𝑙𝑎𝑛𝑒.    

10 

  समति कध समीकरि ज्ञधत करो जो णक  समतिों 𝑎1𝑥 + 𝑏1𝑦 + 𝑐1𝑧 + 𝑑1 = 0   तथध  

𝑎2𝑥 + 𝑏2𝑦 + 𝑐2𝑧 + 𝑑2 = 0  के प्रणतच्छेदि  की   रेिध से गजुरतध ह ैतथध xy-ति के िम्र्र्त 
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ह ै।  

4. (a) 

 

 

Show that every non-zero finite-diamentional inner product space has an orthonormal 

basis.    

णसद्ध करो णक प्रत्येक िॉि ज़ीरो पररणमत णर्मीय अंतर गड़ुि सणमष्ट कध ऑथोिॉमाि आर्धर होतध ह ै 

10 

 (b)  Using the concept of diagonalizability, determine A5, where  

               A= (
0 0 −2
1 2 1
1 0 3

)   

  डधईगोिधणिजधणिणिटी की अवधारणा  कध प्रयोग करके, A5 
ज्ञधत करो, जहधाँ  

               A= (
0 0 −2
1 2 1
1 0 3

)   

10 

5. (a) Solve the differential equation  

𝑥2
𝑑2𝑦

𝑑𝑥2
− 2𝑥

𝑑𝑦

𝑑𝑥
+ 2𝑦 = 𝑥 + 𝑥2𝑙𝑜𝑔𝑥 + 𝑥3   

अर्कि समीकरि      𝑥2 𝑑2𝑦

𝑑𝑥2 − 2𝑥
𝑑𝑦

𝑑𝑥
+ 2𝑦 = 𝑥 + 𝑥2𝑙𝑜𝑔𝑥 + 𝑥3   को हि कीणजए ।  

 

10  

 (b) Determine the power series solution about the origin of the differential 

equation     

(1 − 𝑥2)
𝑑2𝑦

𝑑𝑥2
− 4𝑥

𝑑𝑦

𝑑𝑥
+  2𝑦 = 0 

अर्कि समीकरि  (1 − 𝑥2)
𝑑2𝑦

𝑑𝑥2
− 4𝑥

𝑑𝑦

𝑑𝑥
+  2𝑦 = 0  कध पधर्र श्रेिी हि, मूि णिन्दु के 

सधपेक्ष ज्ञधत करो ।  

10 

6. (a)  Find the work done by the force  𝐹 = (𝑥2 − 𝑦2)𝑖 + (𝑥 + 𝑦)𝑗  in moving a particle 

along the closed path C containing the curves 𝑥 + 𝑦 = 0, 𝑥2 + 𝑦2 = 16  𝑎𝑛𝑑  𝑦 = 𝑥   

in the first and the fourth quadrants.   

प्रथम तथध चतुथा चतुयधासों  में र्क्र  𝑥 + 𝑦 = 0,  𝑥2 + 𝑦2 = 16  तथध   𝑦 = 𝑥   से ििे िंद पथ C 

के सधथ घमूते हुए कि पर िगे िि 𝐹 = (𝑥2 − 𝑦2)𝑖 + (𝑥 + 𝑦)𝑗   के द्वधरध णकयध गयध कधया ज्ञधत कीणजए ।  

10 

 (b) Evaluate the surface integral  ∬ 𝐹. 𝑛𝑑𝐴 𝑤ℎ𝑒𝑟𝑒 𝐹 
 

𝑆
 = 𝑧2𝑖 + 𝑥𝑦𝑗 − 𝑦2𝑘  and S is the 

portion of the surface of the cylinder 𝑥2 + 𝑦2 = 36, 0 ≤ z≤ 4 included in the first 

quadrant.  

10 
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पषृ्टीय समधकि ∬ 𝐹. 𝑛𝑑𝐴 कध मधि ज्ञधत करो जहधाँ   𝐹 
 

𝑆
 = 𝑧2𝑖 + 𝑥𝑦𝑗 − 𝑦2𝑘    तथध  S  र्ेिि 𝑥2 +

𝑦2 = 36, 0 ≤ z≤ 4  जोणक प्रथम चतुथधांस  में ह,ै के पषृ्ट कध भधग ह ै।  

7 (a) A particle is projected in a plane with velocity √𝜇/3𝑎6  at the distance a from the 

circle of force attracting according to the law  𝜇/𝑟7  in the direction inclined at 300 to 

the radius vector. Show that the orbit is 𝑟2 = 2𝑎2𝑐𝑜𝑠2𝜃.    

 एक कि √𝜇/3𝑎6 की गणत से ति पर प्रक्षेणपत ह,ै जोणक 𝜇/𝑟7
के णियम के अिुसधर 300   झकेु हुए णत्रज्यध 

सणदस की णदशध में सणका ि ऑफ फोसा से  a  दरूी पर ह ै। णसद्ध करो णक    𝑟2 = 2𝑎2𝑐𝑜𝑠2𝜃  एक ऑणिाट ह ै। 

10 

 (b) R is the resultant of forces P and Q acting on a particle at O. If P is reversed, Q 

remaining the same, the resultant becomes 𝑅′ . If R and  𝑅′  are perpendicular to 

each other, show that P=Q.   

कि के णरं्द ुO पर कधयारत र्िों P तथध  Q कध पररिधमी र्ि R ह ै। यणद  P को उिट  णदयध जधए, Q को वैसा ही 

रखा जाए तब पररणामी वल   𝑅′  हो जाता ह ै। यदि   R  तथध   𝑅′
एक दसूरे के िम्र्र्त ह ैतव  णसद्ध करो णक 

P=Q.   

10 

8 (a) Show that every real n-dimensional vector space is isomorphic to 𝑅𝑛. 

णसद्ध करो णक  प्रत्येक र्धस्तणर्क  n-ववविय सणदस  सणमष्ट  𝑅𝑛 के तुलयकधरी ह ै।  

10 

 (b)  The amplitude of a simple harmonic oscillator is doubled. How does this effect the 

time period, total energy and maximum velocity of the oscillator?    

एक सरि आर्णृत दोिक कध आयधम दोगिुध कर णदयध जधतध ह ैति इस दोिक की समयधर्णर्, कुि ऊजधा तथध 

अणर्कतम र्ेग पर क्यध प्रभधर् पड़तध ह ै।  

  

10 

******** 


